- This-question péper' qéntai-hs 3 printed pages] . ’

8. No. of Question Paper : 6664

~ Semiester S §

Dgation:3Hows . . Maximum Marks : 75

A -
. .

~Roll No. |

.
o

. _UniquePaperCodé ‘  :’6;235116_1;  R S . FC
© Name ofthe:Paper oy CglculuS-.’ |

* Name of the Course N _- : BA (Prog.) Mat_heiné(iés

.

1 _(leite‘ j)our Roll No. on the top .immédi%ztely on fece_ipt of this qu.'es[tidnjrpaper. )

o '_Attémpt any two parts from é;ic‘h question. " .

o 1 () Y‘Proifje.tha't'.':
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does not exist: N 6
- "(b) Examineﬂ the continuity of the fuhétipn at x =0 and x =1 for |
N xSO

f(x):<5x—4 __ 0<x$1 '

-3 x>l

Also state the kind of discontinuity, ifany, < 6
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(c) - Prove that every differentiable function is continuous. Is the converse true, ? Justify ,
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‘Trace the curve :

| ;<_,'2=}‘_.,

=State'Eu]er’s‘ theorem.jAlsQ yerlfy‘ .Euler S theoreni for‘; o

e

\/; + \/_ \/Z 1s constant

'curve Lo
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 x=a(®+sing), y = a(l + cos),

Sﬁhow that',thecurvat'ure';of a circle’ of radius a is l/a.

F1nd all the asymptotes of the curve

| 3+2x .—xy2
3+2x2+2xy y2+5x—2y—0

f@?ﬂ=m:ng‘

g2 +4x+1 _ .
-Flnd the nth uenuatlve of 3 + 2x . _2
If y '=_-e”' cos™! x’ then
, (1— x )sz (2n + l)x yn+1 (n + m2) yn:v=_ v

2y3+2xy+4y2+y—l O,'

. F1nd the posmon and nature of the double pomts on the curve :

| _'Verxfy Rolle s theorem for the functlon /(x) = (x - 2) x + 1) X € [—1 2]
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.Prove that the sum of the mtercept on the coordlnate ax15 of the tangent to the curve '

6‘/2

'F1nd the equatxons of the tangents and the normal at the pomt 6 = 1t/2 of the‘ _ '_ .'
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: State Ro]le s theorem. lee the geometrlcal mterpretatxon of Rolle s theorem and
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»-‘(b')"'.Sﬁé?zs;.that_thé.fg;lét:ioh - - o o AR
| o - "f(J.‘C)l:.‘S'x:j\ —9x2+9x ¥ 7

o 15Smcuymcreasmgever}’Where : o ) - o : 6

i (C)Provethgt |

'log(l +x)= x = % + ?“ —4— + ... .,

' Ufor» I < x <0 L S o v_ - - 6

 6. ‘ (@ Stateand prove Légféhge’s Mean 'Va'luef’thedrem." L - 6%

(0) . Find the maximum Value of ..~ L T gy
(o) “‘E‘yalua.“té: o -
lim‘.(sin'x)_ta"x-. , R : S
o e,
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